
thin.nong.4191
Typewritten text
Installation & Assembly



1

2

7
6

11

3

4

8
8

9
9

910

10
12

12

12

13

13

13

12

12

12

10

10

10

10

10

9

9

9

9

5
5

D

D
D



M6X30  X2

M4X50  X2

1 2 3 4

5 6 7 8

9 10 11 12

13

X1 X1 X1 X2

X2 X1 X1 X2

X9

X3 X4

X9 X2 X6

A
(M6*10)

X4 X9 X1

D E E
(M6)

X9

C
(M4*10)

X22

B
(M6*23)

E x 9
C x 9

D x 4
B x 6

12

2

5
5

1

3

x 6
13 x 3

C E

Backward

D

D

B
B

B
B

BB

D

D

（ L ） （ R ）

Step 1

Step 2



6

The big hole faces up

B

B

B

B

B

B

B

B

8
8

6

6

7

B x 8 B x 4

B x 4

There are 2 metal nuts on part 6, 
which are facing back when install 
them. You can see in step 6.

back

B

B

B
B

B
B

B
B

4 4

2

3

11

11

A

A

A

A

Step 3

Step 4

Step 5

Step 6



F x 1

10

10

10

10

10

10

10

10
109

9
9

9

9

9

9

9
9

1

2

F

F

Step 7

Step 8







14


